RWQ
K =55 KR

0.75-1.5kW(2P) 2.2-5.5kW(2P)  7.5kW(2P)

—RERFOSE  HoER&EELE -
FHRRAREETER -

5.5-7.5KW(4P)

HHRRAREKE

& A
Bitr - TH - REGRET  EXEMZTKERERR
RITKEBBZH KRS
mAEHH BRUNZARKEGER
Rl
BABFMZFE : 10m (0.75-5.5kw-2P) -
20m(7.5kw-2P / 5.5-45kw-4P)
FEKRE : 8m
RARRERE : 40°C
RAMRBEEE : 1.3x10%kg/m?
OEBMAE : 20 - 80mm
B AR O] B B ¥ 3K 5 BF

BiE

BBEM B (0.75-5.5kw-2P)
F(7.5kw-2P / 5.5-45kw-4P)
REZAR : IP68

FEANZBARRERSE  0.75-7.5kw-2P / 5.5-7.5kw-4P

B 5 37 8
65 RWQ D 15-10-1.1(F)

R L gxmmes
HE 7 (KW)
SR (m)

BE M E(mé/h)

UK T KGR E
%€ (mm)

BE BARE BABE KEDX s$iOoOe
r.p.m m’h m i
50RWQ10-10-0.75 380 3450 26 12 0.75 1 2 50-50 25 18.5 20
50RWQD10-10-0.75(F) 220 3450 26 12 0.75 1 2 50-50 25 19.5 21
50RWQ8-16-1.1 380 3450 29 18 1.1 15 2 50-50 20 24 255
50RWQD8-16-1.1(F) 220 3450 29 18 1.1 15 2 50-50 20 25.5 27
65RWQ15-10-1.1 380 3450 33 15 1.1 15 2172 50-50 25 23 245
65RWQD15-10-1.1(F) 220 3450 33 15 1.1 15 2172 50-50 25 23.5 25
50RWQ8-20-1.5 380 3450 25 22 1.5 2 2 50-50 20 25 25
50RWQD8-20-1.5(F) 220 3450 25 22 1.5 2 2 50-50 20 26 28
65RWQ15-15-1.5 380 3450 37 20 1.5 2 2172 50-50 25 26.5 28
65RWQD15-15-1.5(F) 380 3450 37 20 1.5 2 2172 50-50 25 26.5 28
50RWQ15-20-2.2 380 3450 40 22 22 3 2 50-50 20 44 48
65RWQ25-17-2.2 380 3450 42 22 22 3 2172 65-65 20 42 46
80RWQ40-9-2.2 380 3450 64 16 22 3 3 80-80 30 46 515
50RWQ15-26-3 380 3450 46 28 3 4 2 50-50 20 49 54
65RWQ25-22-3 380 3450 52 29 3 4 2172 65-65 20 52 57
80RWQ40-13-3 380 3450 75 20 3 4 3 80-80 30 54 60
100RWQ60-9-3 380 3450 92 19 3 4 4 100-100 30 57 63
65RWQ25-27-4 380 3450 58 33 4 55 2172 65-65 20 61 69
80RWQ40-18-4 380 3450 81 24 4 55 3 80-80 30 64 71.2
100RWQ60-13-4 380 3450 93 24 4 55 4 100-100 30 65 73
50RWQ15-38-5.5 380 3450 52 42 5.5 75 2 50-50 20 73 81
80RWQ30-30-5.5 380 3450 47 36 5.5 75 3 80-80 30 73 83
100RWQ65-15-5.5 380 3450 110 25 5.5 75 4 100-100 30 79 89
50RWQ20-45-7.5 380 3450 37 52 7.5 10 2 50-50 25 114 1275

EHBEFERD"A=H)

BE SAKE SAEE BEDE KOO = ﬂﬁﬁﬁkmg BE F&
m’/h m KW in mm kg kg
80RWQ30-35-7.5 380 3450 80 40 75 10 3 80-80 30 112 126
100RWQB5-19-7.5 380 3450 110 34 75 10 4 100-100 35 115 129.5
150RWQ100-10-7.5 380 3450 160 20 75 10 6 150-150 35 115 130
100RWQB5-15-5.5(4P) 380 1750 150 19 55 75 4 100-100 50 142 158
150RWQ110-10-5.5(4P) 380 1750 200 2 55 75 6 150-150 55 151 167.5
100RWQ100-15-7.5(4P) 380 1750 170 24 75 10 4 100-100 50 158 175
150RWQ150-10-7.5(4P) 380 1750 240 16 75 10 8 150-150 75 169 186
200RWQ250-6-7.5(4P) 380 1750 400 12 75 10 8 200-200 75 200 218
100RWQ100-22-11(4P) 380 1750 190 28 1 15 4 100-100 50 253 271
150RWQ150-15-11(4P) 380 1750 260 24 1 15 6 150-150 60 256 274
200RWQ300-9-11(4P) 380 1750 475 17 11 15 8 200-200 70 280 208
100RWQ100-27-15(4P) 380 1750 210 35 15 20 4 100-100 50 275 203
150RWQ150-20-15(4P) 380 1750 290 29 15 20 6 150-150 80 277 205
200RWQ300-12-15(4P) 380 1750 490 21 15 20 8 200-200 70 302 320
100RWQ100-31-18.5(4P) 380 1750 200 38 185 25 4 100-100 50 326 3445
150RWQ150-24-18.5(4P) 380 1750 300 32 18.5 25 6 150-150 80 327 346
200RWQ300-15-18.5(4P) 380 1750 530 25 185 25 8 200-200 70 354 373
100RWQ100-36-22(4P) 380 1750 220 44 22 30 4 100-100 50 346 3665
150RWQ150-28-22(4P) 380 1750 330 39 22 30 6 150-150 80 347 367
200RWQ300-18-22(4P) 380 1750 550 27 22 30 8 200-200 70 374 395
250RWQ500-11-22(4P) 380 1750 800 22 22 30 10 250-250 85 390 411
150RWQ150-34-30(4P) 380 1750 310 45 30 40 6 150-150 55 497 519
200RWQ300-21-30(4P) 380 1750 570 33 30 40 8 200-200 80 519 541
250RWQ500-14-30(4P) 380 1750 860 27 30 40 10 250-250 85 512 535
300RWQ800-8-30(4P) 380 1750 1040 22 30 40 12 300-300 90 557 581
150RWQ150-40-37(4P) 380 1750 330 50 37 50 6 150-150 55 557 579
200RWQ300-25-37(4P) 380 1750 620 39 37 50 8 200-200 80 576 598
250RWQ500-18-37(4P) 380 1750 930 30 37 50 10 250-250 85 570 503
300RWQ800-11-37(4P) 380 1750 1060 25 37 50 12 300-300 90 614 638
200RWQ300-30-45(4P) 380 1750 660 43 45 60 8 200-200 80 612 634
250RWQ500-21-45(4P) 380 1750 950 34 45 80 10 250-250 85 606 629
300RWQB00-14-45(4P) 380 1750 1080 28 45 60 12 300-300 90 650 674
e
NO. 2 #% o B
01 BF i 3
02 = 58
03 EBRE 19
04 FEBREFRE oz
05 B =i #
06 B o
07 Ef &
08 [ o7
09 i o
10 REEEZR (=51 "
1 B R &8 b
12 RIAESR 58 *
13 ®h =i *
14 JE B = = i
15 BES 1 ”¥_Wﬂ
o mEwE e
- T RWQ 11 - 45kW
18 FOEs =i
19 BE&ES =5
20 LES) =i
21 EHEER



User666
新建印章


RWQ
K =55 KR

4 BE B 4R

H
50 T
™ | ‘ 3450rpm | | M

- 140
40 >~

-120

I/// °

\ - 100

30
~ Ry |

- 80

[ 80

Total manometric head H (m) »

- 40

- 20

-0
0 m*/h

I T T T T

0 0.2 0.4 0.6 0.8 m*/min

Capacity @ »

H
40 [f]
3450rpm

- 140

%0 120

-100

20

- 80

V1i/1T A

- 60

- 40

Total manometric head H (m) »

Q
o5 | - 20
s

25 50 75 100 125 150

T T T T T
04 08 12 186 20

-0
m’/h
m*/min

0
1
0

Capacity @ »

1750rpm

- 140

120

- 100

- 80

- 60

I 40

Total manometric head H (m) »

Capacity Q@ »

Total manometric head H (m) »

Total manometric head H (m) »

Total manometric head H (m) »

35
N 3450rpm
30
25
N
20 T
N
15 G5
N \
10
5
0
0 10 20 30 40 50
|
I T T T T
0 0.2 0.4 0.6 0.8
Capacity @ »
50
1750rpm
\
40
N
N
30
Y
N
20 AN
™~
NAN
NN
10 N
N
0
? 40 80 120 160 200
I T T T
0 1.0 2.0 3.0
Capacity Q »
40
1750rpm
30

Capacity Q@ »

100

- 80

- 60

- 40

- 20

m’/h
m*/min

- 140
120
100
- 80
- 60
- 40

20

-0
m®/h

m*/min

H
[ft]
120

- 100

Total manometric head H (m) »

Total manometric head H (m) »

Total manometric head H (m) »

50

50

35

30

25

20

15

10

3450rpm

? 20 40 60 80
T T T T
8} 0.4 0.8 1.2

CapacityQ »

N 1750rpm

1 /1 /

50 100 150 200 250 300

0
} T T T T T
0 1.0 20 3.0 40 50

Capacity Q »

1750rpm

N

m;//
S

N \‘\
N

N

200 400 800 800 1000

0
f T
0 4 8 12 16

Capacity Q »

- 140
- 120
- 100
- 80
- 80
- 40

- 20

m‘/h

1.6 m’/min

- 40

20

-0
m®/h
m’/min

100

80

60

40

20

-0
m*/h

T
20 m*/min

1S07005-1992(PN6)

CWL
—

W2

H3

’0) REACH

50RWQ10-10-0.75 50 50 110 140 4-014 200 300 120 445 332 90 96 85 128 192
50RWQD10-10-0.75(F) 50 50 110 140 4-¢14 200 315 120 445 332 90 96 85 128 192
50RWQ8-16-1.1 50 50 110 140 4-¢14 195 325 120 460 347 20 96 85 128 192
S50RWQD8-16-1.1(F) 50 50 110 140 4-014 195 325 120 460 347 90 96 85 128 192
65RWQ15-10-1.1 65 50 110 140 4-014 195 345 120 460 347 90 96 85 128 192
65RWQD15-10-1.1(F) 65 50 110 140 4-014 185 345 120 460 347 20 96 85 128 192
50RWQ8-20-1.5 50 50 110 140 4-d14 202 370 165 480 340 20 105 82 145 210
50RWQD8-20-1.5(F) 50 50 110 140 4-014 202 390 165 500 340 90 105 82 145 210
65RWQ15-15-1.5 65 50 110 140 4-¢14 195 345 120 480 347 90 96 85 128 192
B65RWQD15-15-1.5(F) 65 50 110 140 4-d14 1985 345 120 480 347 20 96 g5 128 192
50RWQ15-20-2.2 50 50 110 140 4-d14 210 410 145 575 357 107 113 100 164 228
B65RWQ25-17-2.2 65 65 130 160 4-014 225 410 145 575 383 107 113 100 164 234
80RWQ40-9-2.2 80 65 150 180 4-014 286 415 150 580 392 105 m 93 160 250
50RWQ15-26-3 50 50 110 140 4-d14 210 425 145 610 357 107 113 100 164 228
65RWQ25-22-3 65 65 130 160 4-014 225 425 145 610 383 107 113 100 164 234
80RWQ40-13-3 80 80 150 180 4-18 270 450 170 630 387 107 115 100 153 243
100RWQE0-9-3 100 80 170 210 4-¢18 205 450 170 830 410 107 115 100 153 253
65RWQ25-27-4 65 65 130 160 4-¢14 240 455 160 650 408 111 116 1086 179 249
80RWQ40-18-4 80 80 150 190 4-918 280 480 185 675 407 105 110 100 165 255
100RWQ60-13-4 100 80 170 210 4-¢18 306 480 185 675 430 105 110 100 165 265
50RWQ15-38-5.5 50 50 110 140 4-¢14 235 475 160 675 386 125 130 112 175 239
80RWQ30-30-5.5 80 80 150 190 4-018 275 495 175 690 427 1156 120 110 175 265
100RWQ65-15-5.5 100 100 170 210 4-¢18 285 505 190 705 462 131 140 115 181 281
50RWQ20-45-7.5 50 50 110 140 4-¢12 265 540 210 4760 449 140 146 134 200 264
80RWQ30-35-7.5 80 80 150 180 4-¢18 305 540 210 760 480 140 146 134 200 290
100RWQ65-22-7.5 100 100 170 210 4-918 345 560 230 780 513 145 154 135 200 300
150RWQ100-10-7.5 150 150 225 265 818 405 575 245 795 598 145 160 135 210 360



User666
新建印章


RWQ ’)) REACH

WK T35 BE K TR

R~

ERKE
s EMEEBARZEED - F51S07005-92F#E R &

1SO7005-1992(PN6)

f] g KREESAUTEH

g B t] / o =g N

EREE R

EEED

EREESE

BREAHTRE (FSERRZEEDE)

I Ry
H3

100RWQ65-15-5.5(4P) 100 100 170 210 4-018 360 585 2565 805 620 190 202 177 280 380
150RWQ110-10-5.5(4P) 150 150 225 265 8-018 430 615 285 835 725 200 215 185 300 450 -
100RWQ100-15-7.5(4F) 100 100 170 210 4-d18 360 630 255 850 620 190 202 177 280 380 T ’__IE_‘
T2
150RWQ150-10-7.5(4P) 150 150 225 265 8-418 430 660 285 880 725 200 215 185 300 450 ]"—73 “{ -5 \
TS & ‘
200RWQ250-6-7.5(4P) 200 200 295 340 8-022 540 695 320 915 880 230 256 192 350 550 i | \ \
| | i s B | |
q
100RWQ100-22-11(4P) 100 100 170 210 4-118 355 650 255 910 671 206 217 193 310 410 I ! ‘Br?g_ [ £ E
| HE =
| P S .
150RWQ150-15-11(4P) 150 150 225 265 8-18 440 680 285 940 756 208 225 188 320 470 I : = ol = = ‘~‘, AT
t 7—[ T
- B_ |
200RWQ300-9-11(4P) 200 200 205 340 ®22 545 720 325 980 866 226 253 191 340 540 7 /g s
100RWQ100-27-15(4P) 100 100 170 210 4-018 355 695 255 955 671 206 217 193 310 410 “ 7 ‘

-

150RWQ150-20-15(4P) 150 150 225 265 8-918 440 725 285 985 756 208 225 188 320 470

%
200RWQ300-12-15(4P) | 200 200 285 340 | 8922 | 545 765 325 1025 | 8686 226 253 191 340 540 '%
100RWQ100-31-18.5(4P)| 100 100 170 210 | 4-v18 | 355 715 185 1010 | 693 218 227 208 325 425
150RWQ150-24-18.5(4P)| 150 150 225 285 | 8018 | 415 740 290 1035 | 781 221 235 208 335 485
200RWQ300-15-18.5(4P)| 200 200 285 340 | 8-22 | 545 785 330 1080 | 883 233 260 203 350 550
100RWQ100-36-22(4P) | 100 100 170 210 | 4-v18 | 355 735 265 1030 | 693 218 227 208 325 425
150RWQ150-28-22(4P) | 150 150 225 285 | sb1s | 415 760 290 1085 | 781 221 235 208 335 485
DA ®B OC N-od T1 T2 T3 T4 T5 T6 T7 T8 T9 KI K2 S h1 h2 h3 h4 1 1 m

200RWQ300-18-22(4P) | 200 200 285 340 | 8922 | 545 805 330 1100 | 883 233 260 203 350 550 E o=

50-50(PN6) ®50/G2" | 110 | 140 | 4014 | 265 | 215 | 105 | 25 | 42 | 200 | 215 | 15 | 67 | 165|135 | 63 | 25 | 160 | 250 | 280 | 1"/33.3x3.5 | 4-M16x120 | 2-M12x40
250RWQ500-11-22(4P) | 250 250 350 385 | 12-022 | 635 860 400 1160 | 1150 | 280 313 270 400 673

65-65(PN6) | ©65/G2"7,"| 130 | 160 | 4-14 | 280 | 230 | 125 | 30 | 50 [ 230 | 235 | 20 | 70 | 190 | 155 | 90 | 25 | 165 | 265 | 295 | 1"33.3x35 | 4-M16x120 | 2-M12x40
150RWQ150-34-30(4P 150 150 240 285 | s-w22 | 475 855 340 1200 | 997 272 283 270 380 582

8 i) 80-80(PN6) ®BO/G3" | 150 | 190 | 4-018 | 315 | 265 | 145 | 27 | 50 | 255 | 225 | 30 | 78 | 215 | 155 | 77 | 25 | 190 | 305 | 335 | 1'1,"/48.3x3.5 | 4-M16x120 | 2-M12x40
200RWQ300-21-30(4P) | 200 200 205 340 | 8-@22 | 580 895 380 1240 | 1078 | 286 308 270 380 622 100-100(PNE) | ©100/G4" | 170 | 210 | 4-018 | 365 | 305 | 170 | 32 | 55 | 295 | 260 | 35 | 95 | 265 | 175 | 100 | 25 | 230 | 350 | 380 | 1',"/48.3x3.5 | 4-M18x150 | 2-M12x50
250RWQ500-14-30(4P) | 250 250 350 385 | 12022 z 920 400 1265 | 1181 300 332 270 410 683 150-150(PN6) | 150 | 225 | 265 | 8018 | 400 | 260 | 280 | 24 | 48 | 400 | 410 | 75 | 95 | 280 | 300 [ 200 | 390 | 300 | 480 | - | 1'4"/448.3x3.5 | 4-M20x150 | 2-M14x50
300RWQ800-8-30(4P) 300 300 400 445 12-022 - 970 450 1315 1365 340 386 290 480 803 150-150(PN10) ©150 | 240 | 280 | 8-022 | 400 | 260 | 280 | 24 | 48 [ 400 | 410 | 75 | 95 | 280 | 300 | 200 | 390 | 300 | 480 | - |1'/,"/b48.3x3.5 | 4-M20x150 | 2-M14x50
Un L} |

150RWQ15040-37(4P) | 150 T - — . - - — 55 55 - S 5 200-200(PN10) | 200 | 295 | 340 | 8-022 | 400 | 260 | 280 | 24 | 48 | 400 | 445 | 100 | 95 | 300 | 355 | 230 | 440 | 325 | 555 11"/48.3x3.5 | 4-M20x150 | 2-M14x50

250-250(PN10) | 250 | 350 | 395 |12-22| 400 | 260 | 280 | 24 | 48 | 460 | 555 | 110 | 95 | 360 | 430 | 295 | 450 | 315 | 630 | - | 1%."b48.3x3.5 | 4-M22x150 | 2-M14x50
200RWQ300-25-37(4P) | 200 200 285 340 | 8922 | 593 890 380 1295 | 1078 | 286 308 270 390 622

300-300(PN10) | 300 | 400 | 445 |[12-22| 520 | 340 | 375 | 32 | 65 | 550 | 600 | 140 | 110 | 414 | 460 | 280 | 480 [ 415 | 730 | - | 27®60.3x3.5 | 4-M24x200 | 2-M14x50
250RWQ500-18-37(4P) | 250 250 350 385 | 12022 | 665 910 400 1315 | 1181 300 332 270 410 683 [-EErt

Lt = N
300RWQ800-11-37(4P) | 300 300 400 445 | 12022 | 750 860 450 1365 | 1385 | 340 386 290 480 803 M-ERiZRMNE=BERg

= B S8

200RWQ300-30-45(4P) | 200 200 295 340 | B®22 | 560 930 380 1295 | 1078 | 286 308 270 390 622 M= FEREERENBERRE
250RWQ500-21-45(4P) | 250 250 350 385 | 12022 | 665 950 400 1315 | 1181 300 332 270 410 683

300RWQ800-14-45(4P) 300 300 400 445 12-922 750 1000 450 1365 1365 340 386 290 480 803



User666
新建印章


	P01
	P02
	p03
	P04
	P05

